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Решите каждую задачу.

1) A small fruit smoothie is 30 ounces while a large fruit smoothie is 39 ounces. The large
fruit smoothie is _____% larger.

2) The price for internet on a phone was §5 a month, but starting in November the price will
be §5,9 a month. This is a _____% increase.

3) Весной средний балл по листу деления был 93. Но еще осенью средний балл был
НОМБ. Оценка за осень была на _____% ниже, чем за весну.

4) At a restaurant the bill came to §56. If you leave §63,84, what percent tip is that?

5) A pole was supposed to be 17 meters long, but it was accidentally made 19,04 meters long.
The pole is _____ percent longer than it needs to be.

6) Магазин обычно набирал в среднем 166 покупателей в день. Но по выходным они в
среднем набирали 129,48 клиентов в день. На сколько процентов уменьшилось
количество клиентов?

7) {BVAR} spent 23 minutes on his math homework and 33,12 minutes on his spelling
homework. He spent _____ percent more time on his spelling homework.

8) Большая газировка - это 228 калорий, а маленькая - 173,28 калорий. В небольшой
газировке на ____ процентов меньше калорий.

9) Семья {GVAR} решила отказаться от кабельного телевидения. Первоначально они
платили 131 за телевидение, Интернет и телефон, но теперь они платят 75,98
долларов. На какой процент уменьшился счет?

10) Normally a game costs §32. But the new special edition version is going to be §47,36. This
is an increase of _____ percent.
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1) A small fruit smoothie is 30 ounces while a large fruit smoothie is 39 ounces. The large
fruit smoothie is _____% larger.

2) The price for internet on a phone was §5 a month, but starting in November the price will
be §5,9 a month. This is a _____% increase.

3) Весной средний балл по листу деления был 93. Но еще осенью средний балл был
НОМБ. Оценка за осень была на _____% ниже, чем за весну.

4) At a restaurant the bill came to §56. If you leave §63,84, what percent tip is that?

5) A pole was supposed to be 17 meters long, but it was accidentally made 19,04 meters long.
The pole is _____ percent longer than it needs to be.

6) Магазин обычно набирал в среднем 166 покупателей в день. Но по выходным они в
среднем набирали 129,48 клиентов в день. На сколько процентов уменьшилось
количество клиентов?

7) {BVAR} spent 23 minutes on his math homework and 33,12 minutes on his spelling
homework. He spent _____ percent more time on his spelling homework.

8) Большая газировка - это 228 калорий, а маленькая - 173,28 калорий. В небольшой
газировке на ____ процентов меньше калорий.

9) Семья {GVAR} решила отказаться от кабельного телевидения. Первоначально они
платили 131 за телевидение, Интернет и телефон, но теперь они платят 75,98
долларов. На какой процент уменьшился счет?

10) Normally a game costs §32. But the new special edition version is going to be §47,36. This
is an increase of _____ percent.
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